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R#ETFAN #3 #EH HIOMHS—iIE 01

—WIEH a, RO K. L S, BELHEETOMETS. (SH14, A2, B33, CH¥hasr)

1 S,=n*> (n=12,3,"") 2 S,=n*-n (n=1,2,3")
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(1)

— I a, ZROX. LS, ZELHEITOMET S, (SHh15258, A#k2r40%, BS54y, C#%6%)

Sp=n%>-n (n=1,2,3,-) (2) S,=n*-n? (n=1,2,3,)
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R#ETAL #3 FEHE HIOMHS—RIE 01 BIEH

—WIEH a, RO K. L S, BELHEETOMETS. (SH14, A2, B33, CH¥hasr)

* —fi%E a,, , EnBEXFTOM S,, &£IThiL, an =S, — Sn_1

(1) Sp=n% (n=1,2,3) (2) Sp=n%-n (n=1,2,3-")
an:Sn_Sn—l an:Sn_Sn—l
1y —nn {(n— 1~ (- 1))
=n?—(n?-2n+1) =n3—n—-n3=3n?+3n—-1)+(n-1)
=n?—-n?4+2n—-1 =nd—n—-n3+3n2-3n+1+n-1
=2n—-1 (n=1,2,3,"") =3n2—-3n (n=1,2,3,"")
YeRIE L YhRIEL
a1 =2x1—-1=1 a1 =3%x12-3x1=0
Si1=12=1 O.K. S;=13-1=0 O.K.
as =2x2—-1=3 a3 =3%x22-3x2=6
Sy =22=4 Sy =23-2=6
a1 +ax=14+3=4 O.K. a1+ay=04+6=6 O.K.
i?gf%@:"y
(n—l)

—(n 1)2 o —1
—(n—-12=3n%2-3n+1
n4—(n—1) =4n3 —6n? +4n —1
NS DFHRZHEICT 2 LR CIEMICERTE 27259,
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2.

—ME a, ZRD K. LS, BERHEETOMET S, (SH1525F, A2 408, B#S5 47,

* —f8H a, , BnBIXTOM S, £IThiS,

(1) S,=n*2-n (n=1,2,3)

Qn = Sn - Snfl

=n?—n—{(n—1)?—(n—1)}

+(n—-1)
=n?—n—-n>4+2n—-14n-1

=2n—-2 (n=1,2,3,")

PAGTAIENS
ap=2x1-1=1
S, =12=1 O.K.
as=2x2-1=3
Sy =22=4
ai+az=1+3=4 O.K.

© $2f - HE R L0

(2)

n—1

S,=n*-n? (n=1,2,3,")

an:Sn_Snfl
=n*—n?—{(n—1)*-

(n—1)?)

=nt—n?—(n*—4n®+6n%—4n+1)

CH697)

+(n?-2n+1)

=nt—n?—nt4and —6n>+4dn—-14+n>2—-2n+1

=4n3 — 6n2 4+ 2n

PAGTAIENS
a1 =4x13—-6x1242x1=0
S;=1"-12=0 O.K.
Ay =4x22—6x224+2x2=12
Sy =2%—-22=12
a1 +as =0+12=120.K.

YeartHED ay
nf(n—l)*l
—(n—-12=2n-1
—(n—1)3=3n2-3n+1
n4f(n71) =4n® —6n? +4n — 1
o DFIRZRICT

(n=1,2,3,

)

% LR CIEEICEETE 5725 9.
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